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Time : 3 Hours| _ {Max. Marks : 70
I.  (a) Explain the advantages of Cost Accounting. 7
| OR
Explain Elements of Cost.
(b) Explain any two : 4

(1) Opportunity cost
(2) Historical cost
(3) Marginal cost
(c) State the cost unit used for the following industries :
(1) Textile industries
(2) Hospital
(3) Brick industries

2.  (a) From the following information, find out :
(1) Economic order Quantity
(2) Ordering level
(3) Minimum level
(4) Maximum level
Consumption for a 2 years 5000 units,

per unit cost < 10,

cost of placing an order T 200

per unit carrying cost 10%

Delivery time 2 to 4 weeks

Weekly consumption 60 to 120 units.

OR
Explain ABC classification method of material with an example.

(b) The following information of Samir Ltd. for the month of March 2016. Prepare
stock Register using FIFO method.
Particulars Units | Per UnitX
Opening Stock 200 S
Purchase
| Issue
| Purchase
Issue
| Purchase
23 | Issue
OR
Explain LIFO method.
MK-124 5




(¢) From the following information find out stock turnover rate :
Opening Stock T 80,000
Purchase ¥ 2.00.000
Closing Stock T 40,000
OR
Explain Bin Card.

3. (@ X.,Y and Z are three workers in a factory. Standard time allowed for a job $ ;
100 hours. Wage rate per hour is ¥ 5. To finish the job X takes 70 hours: .
takes 100 hours and Z takes 110 hours.

Calculate :
(1) Time wage
(2) Piece wage

(3) Effective wage rate as per piece wage
OR

Explain Halsey and Rowan plan.

(b) Following details are obtained from the books of Ayan Ltd. for April 2016.

Workers at the beginning of April 1180
Workers at the end of April 820
Workers resigned during the month | 28
Workers suspended during the month 42
Workers newly recruited in place of workers left during the month 20

Newly appointed under expansion plan 45

Calculate Labour turnover rate °

(1) Separation method.

(2) Replacement method.
(3) Flex method

(4) Equivalent Annual turnover Rate under all three methods (EAR).
OR

Write short notes : (any three)
(1) Idle time

(2) Overtime
(3)  Co-partnership method
(4) Profit shari ng method

(5) Employee welfare costs

-124



4.

Rimsha Ltd has three production departments A, B and C and two service X
1

departments X and Y. Following information are available for May 2016.
4

Particulars

Rent and Taxes 12,000

Power Expenses 5,500

Lighting Expenses 6,000
3,600

Repairs of Machines

Insurance of Machines 8,400

Depreciation of other Machines 6,500

Canteen Expenses 8,000
Other Information :

Particulars A B C * X Y

(1) Space occupied (sq. feet) | 400 300 200 50 50
(2) Actual power expenses 1200 1800 1700 400 400
(3) Light points 4 4 2 1 |
(4) Price of machines 2.50.000 | 2,50,000 | 1,00,000 50,0_00_1_50,000
(5) Price of other machines | 40,000 | 40,000 | 20,000 20,000 10,000
(6) No. of workers | 3 3 2 1 ‘
(7) _Working hours 6,920 8,822 11,5988 = %

Allocation of Service Departments Expenses are as under :

Service Department A B C X Y
X 40 30 20 - 10

Y 30 30 20 20 /&~
If an item is costing ¥ 200 for raw material, ¥ 100 for wages and if it takes 5, 4 and 2

hours each of department A, B and C for completion.

From the above information, calculate :
(1) Distribution of over heads to various departments.

(2) Distribution of expenses of service departments to production departments.

(3) Find out production raté per hour.
(4) Per unit cost of production.
OR

Following information is obtained from the books of Sarim Ltd. Calculate Machine

Hour Rate :
(1) Cost of Machine T 40,000, Books value ¥ 26,000, Scrap value ¥ 1000 and

Estimated Life 15,000 hours.

(2) Cost of tepairs during estimated life T 22,500.

(3) Salary of two supervisors ¥ 300 p.m. for each supervisor (They also look after
three other machines)

(4) < Canteen Expenses < 2400 p.a.

(5) . Consumption of steam and water  0.10 per hour.

(6). Chemical Expenses < 200 p.m.

(7) Overheads allocated to a Machine X 400 p.m.

(8) Power consumption 20 units per hour, rate per hour X 0.14.

(9) Annual Insurance Premium 1% on cost value.

(10) Working hours of a machine 2300 p.a. out of which 200 hours are for

maintenance and 100 hours are for installation.
7
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5. Select correct option from given options for each question with necessary calculation »
(any seven) :

(1) Gallon or litre is cost unit of which industry ?

(c) Colour-chemical Industry (d) Electricity Industry
(2) In Cement Industries which method is used ?

(a) Process costing (b) Service costing
(c) Unit costing (d) Standard costing
(3)  In which method price and quality are both considered ?
(a) FIFO method (b) LIFO method

(c) Weighted Average Method (d) None of these
(4) In which system with higher pricing which is sent as first issue ?
(a) FIFO method (b) LIFO method
(¢) HIFO method (d) Weighted Average method

(5) A worker is allowed 70 hours for a job. Actual time taken is 50 hours. Rate per
hour is ¥ 10. Wage as per Halsey plan is

(a) Y700 (b) T 500
(¢) T200 (d) T 600

(6) Basic salary of a worker is ¥ 5,000 and D.A. is ¥ 3000 per month. Employer’s

contribution to Employee State Insurance (ESI) is 2% of basic salary plus D.A.
Total monthly wages are

(a) % 8,000 (b) . 25,100
(c) T5,160 (d) 8,160
(7) Which type of overheads is the expense of price list printing for a product ?
(a) Factory overheads (b) Administration overheads
(c) Selling overheads (d) None of these

(8) Power expenses (including 12% surcharge) is T 6,720. Power consumptmn per
hour 10 units and rate per unit T 0.10. Compute machine hours.

(a) 6720 hours (b) 8360 hours
(¢). 6000 hours (d) 3000 hours
(9) ' Which of the following expenses is included in cost accounts ?
(@) Loss of sa.. of assets (b) Wnitten off preliminary expenses

(c) Stationery and printing (d) Bad debts Reserve
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